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Trig. Equations Worksheet 1
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Precalculus Notes — Solving Trig Equations

Let’s now use the strategies learned in Algebra 2 for solving linear, quadratic and cubic equations to for solving

+trigonometric equations.
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Precalculus Notes — Solving Trig Equations

Let’s now use the strategies learned in Algebra 2 for solving linear, quadratic and cubic equations to for solving
“igonometric equations.

EX 1: Solve 2cos¢=-1. Youtry: Solve 2sinx++/3=0
EX 2: Solve 2sin’x=1 . You try: 4cos’x =1

EX 3: Solve  2c0s’0-+/3cos0=0 You try: 3tan’8-+/3tanf =0
EX 4: Solve 2sin’x + 7sinx = 4 Youtry:  5cos’x-8cosx =-3

EX 5: Solve sinBcosB(tanB-1)=0 You try: (2c058—1)(25in8+\/§) =0




Trig. Equations Worksheet 1

Solve for { inthe interval: 0 < <360

1. cos@+1=0 2. sin@=0

0 5. 2cos’ @ =3cosf—1

4, cos(n’(tan2 @ - 3)

Solve for ALL values of & using degrees

7. 3tan’@-1=0 8. 4cos’@-1=2

Solve for @ in [0,2:7')

10. 2cos@+4=5 11. Ssi119—\/§=3sim9

12. 4sin’6-2=0 13. 6sin’ @ =5sinf +4

Solve for ALL values of & using radians.

14. sin*@—-4sin@-5=0 15. 16cos’ @ —8=0

3. 20059—\6:0

6. 2cos’@—cosf =1

9, 6sin°f+5=8



